FE21E 2ARBE FTREFAORS (BT N)

BT HEH(E) (B = B BT HEH(E) (B = H BT s () |8 = B
FiF SR BT 166 211 213 424 IKEBT—TBE 303 423 405 828 #yE=TH 143 179 197 376
B —TE 188 182 199 381 IREET—TH 521 670 770 1440 FHUH 1 2 2 4
FHFE=TH 211 253 251 504 IREET=TH 947 1163 1271 2434 HHAHEHE—TH 0 0 0 0
FFHRET=TH 267 298 350 648 MREHBTNT B 289 370 364 734 HPAHEF_THE 0 0 0 0
FFRETET B 707 829 915 1744 KERTETH 1227 1494 1575 3069 HPHEHE=TH 0 0 0 0
JFRERTH 1056 1391 1508 2899 EEAT 2603 3823 3822 7645 HPAHEHEWTH 0 0 0 0
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EEB=TH 305 376 421 797 AHEBTET B 192 304 315 619 EMEI=TH 444 445 517 962
EEB=TH 614 701 784 1485 & EIET 3 5 1 6 _EHT 1607 2045 2238 4283
EEEMNTE 57 67 80 147 EEHE—TH 661 900 928 1828 ENEM 1088 1276 1233 2509
{BAET 531 515 73 588 EEE=TH 651 793 782 1575 L RHET 1060 1453 1447 2900
BAEI—TE 664 759 802 1561 EEE=TH 354 518 530 1048 | EFHT 573 818 797 1615
AAEIZTH 1085 1097 1290 2387 FEEHETPYT B 321 326 383 709 | EFHET—TH 147 153 176 329
BAEI=TE 431 571 571 1142 | HEE—TH 273 327 321 648 EFE_TH 309 342 370 712
BAETMETE 826 1013 1042 2055 HEE_—TH 257 395 383 778 FTFH=TH 332 410 419 829
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